
 
«1» 

 ششم دبستان ریاضی - محورهای مختصات - 3موضوع  - 4 فصلدروس: پاسخ کتاب کار
‌[45]‌ها‌عرض‌-ها‌‌طول -1

2- 
4

0
‌[45]‌

‌[44]‌«2»ی‌‌گزینه -3

‌
‌[44]«‌1»ی‌‌گزینه -4

‌
‌[45«‌]1»ی‌‌گزینه -5

yÄI¶pA»tke

³

³

Áï

ö

¾õ£º

Áï¾ º

Æoø

³

Ï¼õ£ ( )

110 7 0 7
04 4 7 4 7 11

‌

6- [45]‌

‌

اگر‌ -7
7

3
شود‌‌می«‌م»ی‌‌ی‌نقطه‌یافته‌‌در‌نظر‌بگیریم،‌انتقال«‌ن»ی‌‌ی‌نقطه‌یافتهرا‌انتقال‌‌

8

3
و‌اگر‌‌

7

3
«‌م»ی‌‌ی‌نقطه‌یافته‌را‌انتقال‌

در‌نظر‌بگیریم،‌
6

3
‌[45«.‌]ن»ی‌دیگر‌یعنی‌‌ی‌نقطه‌یافته‌انتقال‌‌،شود‌می‌

‌
‌الف([‌45[‌و‌]44] -8



 
«2» 

¦a¼¨ ®ÃõTv¶ · , j , Á, ³:
0 0 2

0 1

2

1 0
‌

©nqM ®ÃõTv¶ · , n , x, t:
0 0 6

0 3

6

3 0
‌
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